
5 5

2

2 6 6
19

21

22

24

1

6

6

11

3 31112 1112

18

17

20

16 9 15 10

14

7

24
12

8

13

23

12

1

6 6

4

C

23

ABC Clutch - Volvo B21/B23/B230/B234 to BMW kit Instalation manual
ABC Clutch SIA
Upesgrīvas iela 47, 
Mārupe, Mārupes nov., 
LV-2167
LV50103645701
00371 29125732  
sales@abc-clutch.com

Nr. Part Nm Pc.
1 Centric washer - 2
2 M12x1.75x20mmBolt 70 3
3 M10x1.5x20mm Bolt 50 2
4 M12x1.5x70mm Bolt 70 2
5 M12x1.5x40mm Bolt 70 2
6 12mmx2mm washer - 6
7 Tilton OT II Cover - 1
8 Diaphragm spring - 1
9 Flouter plate - 1
10 Pressure plate - 1
11 M8x1.25x40mm Bolt 25 3
12 8mmx2mm washer - 9
13 Koyo throw out bearing - 1

14 Aluminium throw out 
bearing case - 1

15 Cerametallic disc 1 - 1
16 Cerametallic disc 2 - 1
17 Centric bearing - 1
18 Centric bearing lock ring - 1
19 Volvo to BMW flange - 1
20 Flywheel - 1
21 M12x1.75x60mm Bolt 70 1
22 M10x1.5x65mm Bolt 50 1
23 M10x1.5x30mm Bolt 50 1
24 M8x1.25x50mm Bolt 25 6


	Sheet1
	Drawing View1
	Detail View B (1 : 2)
	Drawing View4
	Detail View C (1 : 3)


